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3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

11)

12)

13)

14)

3B+11+36=

41+55+35=

35+39+73=

77+58+88=

62+51+61=

68 + 18 + 95 =

60+32+41=

39+90+28=

31+95+52=

46+ 83+ 74 =

59+59+ 78 =

36+ 62+93=

16+82+34=

76+56+48 =

Antworten

10.

11

12.

13.

14.
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ﬂh 3 Additionswerte (2-stellig) Name: L Osungsschlissel

L 6se jede Aufgabe. Antworten
1) 35+11+36= 82 82
— 1.
2 41+55+35= 131 2 131
3. 147
3) 35+39+73= 147 003
4.
4) 77+58+88= 223 5, 174
6. 181
5 62+51+61= 174
7 133
6) 68+18+95= 181 o 157
1/8
7) 60+32+41= 133 >
10, 203
8 39+90+28= 157 . 196
9 31+95+52= 178 2 191
13. 132
10) 46+ 83+ 74= 203
- 14, 180
11) 59+59+78= 196
12) 36+62+93= 191
13) 16+82+34= 132
14) 76+ 56+ 48 = 180
1-10 [ 9386|7971 64|57]50] 43[36[ 29|
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3 Additionswerte (2-stellig)

Name:

L 0se jede Aufgabe.

Antworten

{

203
133

131 157
181 174

82
147

223
178 1

1)

2)

3)

4)

5)

6)

7)

8)

9)

10)

35+11+36=

41+55+35=

35+39+73=

77+58+88=

62+51+61=

68 + 18+ 95 =

60+32+41=

39+ 90+ 28=

31+95+52=

46 +83+ 74 =

10.

Geandert
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